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@ specitcityoffection [ETRS—————

Why do virusesinfectonly specifc celsin specifc organisms?

A Onlyspecificorganisms have the optimal pH raguired for vial replication
B Onlysome cells produce vesiclesof the ightsize for vial envelope

Sl riy som cels have the receptors that can bind viral proteins v
D Onlyseme calls encad and sxpress the spike protein

E Onlysome cells express nucleocapsid protein
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(@ whyis saR-COV2 more dangerous? Hide Correct Answer  Show Responses.

Based on your study of the comparative molecular views of the interaction interface between RBD of the spike protein and ACE2
included above, which of the two Spike proteins (SARS CoV-2 or SARS CoV] i likely to bind ACE2 more strongly? Why?

A SARSCoV-2-ACEZ nteraction s stronger as the alpha helx rom the receptoris closer to the beta strand from the spike
protein in the SARS-CoV-2 ~ACE2 binding interface compared to the SARS-CoV-ACE2 binding interface.

g SARS-COV-2-ACEZinteraction is weaker as the alpha helx rom the receptoris closer to the beta srand from the spike
protein in the SARS-CoV-2 ~ACE2 binding interface compared to the SARS-CoV-ACE2 binding interface.

SARS-CoV-2 -ACE2 interaction is stronger as SARS-CoV-2 -ACE2 binding interface has two additional noncovalent

bonds (k417-D30 salt bridge and G446-Q42 H-bond) that SARS-CoV-ACE2 does not have. v

ARS-CoV-2 -ACE2 interaction is weaker as SARS-CoV-2 -ACE2 binding interface has two additional noncovalent bonds
(K417-D30 salt bridge and G446-Q42 H-bond) that SARS-CoV-ACE2 does not have.
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@ comparison of the viral genome to human genome Hide Correct Answer | Show Responses

Select the correct statement below based on the information you read.

A Theviral genome is approximately the same size of the human genome

B Theviral genome is about 10%5 times larger than the human genome

[l The viral genome is about 10°5 times smaller than the human genome v

D Therewasnosize nformation given in the article to perform  comparison
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The first

proteins of the identified  blank2 total proteins encoded by the

viral genome are categorized as k3 (NSPs) and are made s a single polypeptide chain. Two of

the NSPs

ka and

are proteases that later cleaved this single

polypeptide into individual functioning proteins. Besides these NSPs the viral genome also codes for

blanks proteins and other accessory proteins also called ORFs.
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Agroup of coronaviruses that share the same inherited set of distinctive mutations s called a
blank1 . When enough mutations accumulate in a lineage to create a virus that has distinct

differences in how it functions, this lineage isthen calleda  blankc . There are currently four

lineages that are variants of concern. The 8.1.17 lineage is named and first emerged in

blankd . Second lineage B.1.351 is called and emergedin
blanks .The third P lineageis called  blank and emerged in
blan . The latest variant of concern s lineage B.1.617.2 called which

originatedin  blanki0
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@ Howdoes sowp help st corommvirusspread? ide ComectArswer  Show Resporses

Fillinthe blanks to formulate a correctstatement b inputting the latte for one ofthe indicated noncovalent interactions n the

st blank and inputting the number for one ofthe viral slementsinthe second blank

a interactions between soap and the

2 disrupt the vial structure.

OFTIONS FOR BLANKL:

A lenicintersctions

& Hydrogen Bonds

€ Hydrophobic nteractions.

0. Covalent Bands

OFTIONS FORBLANKZ:

1 AN polymersse

2.vieslRNA

3 Lipids in the viral envelope

4 Nucleocapsic proteins





image3.png
s





image4.png
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Wihy does SAR-COV-2 nsed the host cal? Slect ALL that spaly.

Show Responses.

Virus uses cellularribosomes to produce viral proteins.

Virus uses cell membranes to produce mature vialpartcles

€ Virususes coll ncieus to transeribe virsl genss

D Virususes cellular polymerases to copy virsl genome
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ids CorrectAnsur

Show Responses.

(Orcerthestaps i theviralfecycle by placing the corresponding step number o the blanks n the chronalogical order

blark blariz blan

blarks blarks

blan blarkr blarks

2. Virsl BNA sssembles with nucleseapsid pratein

2 Vial+strand RNA s copied nto -strand RNA

3. Vsl genes s translated it proteing

4 Vial-strand RNAs copied nto +strand RNA

5.Viral particlesavt via ocytosis

5. Spike protein binds to ACE2 receptor

7. Vsl mambrane snd cell membrans fuss togsther

& Virslpartcls enters cll vis endosytasis
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